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Начало





Ввод исходных данных





i=2





max_C=c[1]





i>n





c[i]>max_C





max_C=c[i]





i=i+1





max_P=p[1]





i=2





p[i]>max_P





max_P=p[i]





i=i+1





i>m





Max_C>max_P





s=0





c[i]/z=


round(c[i]/z)





i=1





s=s+1





d[s]=c[i]





i=i+1





i>n





i>m





i=i+1





d[s]=p[i]





s=s+1





i=1





p[i]/z=


round(p[i]/z)





Вывод массива D





Конец





Вывод сообщения





да





нет





да





нет





да





да





нет





нет





да





да





да





нет





нет





нет





да





да





нет





нет








